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ik 484 360 360] x 80 |= 28,800 74. 4% 78. 2%
LAk 228 118 118] % 80 |= 9, 440 51. 8% 48. 3%
W HS 210 55 55| X 80 |= 4, 400 26. 2% 60. 9%
VE %1 H 123 81 i e e 6, 480 65. 9% 68. 3%
[ER 210 136 136] X 80 |= 10,880 64. 8% 62. 4%
ESERE 360 258 258 X 80 |= 20,640 71. 7% 73. 0%
KEF 242 49 49| X 80 | = BWHETHEL 20. 2% 32. 2%
3 394 257 257 X 80 |= 20,560 65. 2% 68. 2%
+=F 288 193 193] X 80 |= 15,440 67. 0% 67. 3%
KE 253 161 161] X 80 |= 12,880 63. 6% 62. 8%
k&S 240 143 143] X =800 | =" 11,440 59. 6% 58. 5%
|2 212 139 139| X 80, | = 11,120 65. 6% 59. 0%
B 309 134 ig4] ¢ 8ol | =+ 10,720 43. 4% 51. 1%
=Rk 156 133 133] X 100 | = 13, 300 85. 3% 90. 9%
BRai 133 72 1 [ ] 5, 760 54. 1% 62. 1%
T 388 238 238| X 80 |= 19,040 61. 3% 64. 4%
KT 373 261 261l X 80 |= 20,880 70. 0% 68. 5%
ith 316 183 183| X 80 |= 14, 640 57.9% 63. 2%
HEY—K 381 212 212l X 80 |= 16,960 55. 6% 63. 9%
] (L1 [ 99 18 18] X =B = 1, 440 18. 2% 25. 0%
R pait 272 41 41| X 80 |= 3,280]  15.1% 24. T%
nyicy 50 2 2| % 80 |= 160 ©4.0% 8. 3%
7 & 0 FE M 548 187 187 X 80 |= 14,960 34. 1% 33. 3%
/INYA] R b 68 16 6] X 80 |[= 1, 280 23. 5% 29. 2%
Z. X0 EEH 349 136 136| X 8 |= 10,880 39. 0% 32. 4%
ER R 250 52 52| X 80 |= 4,160 20. 8% 26. %
X%y EHEH 210 55 55| X 80 |= 4, 400 26. 2% 27. 8%
¥y X 303 192 192] X" TT8@|'=" "15,360 63. 4% 66. 3%
[E Pk = # 97 46 46| X 80 | = 3, 680 47. 4% 65. 8%
&< L 187 25 25| X 80 |= 2,000 13. 4% 13. 0%
75 ] 634 420 420l X 80 |= 33,600 66. 2% 67. 0%
O 310 204 204 X 80 |= 16,320 65. 8% 67. 8%
TRl 168 78 78| X 80 |= 6, 240 46. 4% 47. 6%
NE 313 148 148 X 80 |= 11,840 47.3% 46. 9%
SR 134 74 74| X 80 |= 5, 920 55. 2% 54. 3%
S Yl 400 274 274 X 80 |= 21,920 68. 5% 74. 8%
= 348 221 221l X 80 |= 17,680 63. 5% 70. 1%
K& 321 253 253 X 80 |= 20,240 78. 8% 75. 8%
Pk 41 34 34| X 90 |= 3, 060 82. 9% 80. 5%
FEI 97 77 77| X 80 |= 6, 160 79. 4% 77. 2%
B8R 356 239 239] X 80 |= 19,120 67. 1% 69. 3%
A 304 194 194] X 80 |= 15,520 63. 8% 64. 5%
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T & 169 106 106] X 380 | = 8, 480 62. 7% 62. 6%
LfE 90 72 72| X 90 | = 6, 480 80. 0% 73. 6%
RY ok 59 51 51].:%¢ - 100 | = 5, 100 86. 4% 87: 1%
v AR 119 91 91| X e 7, 280 76. 5% 79. 1%
HERE 98 88 88X V100 | = 8, 800 89. 8% 84. 7%
AP 79 55 55| X 80 |= 4, 400 69. 6% 73. 3%
7= 178 52 41 A1l B = 3, 280 78. 8% 67. 2%
HEELX 591 390 390] >+ 80. |= 731,200 66. 0% 68. 0%
BHEfE2X | 405 235 235 X 80 |= 18,800 58. 0% 57, 5%
HEE3X 342 238 238 X 80 |= 19,040 69. 6% 70. 7%
H RfE4X 185 135 135| X 80 |= 10,800 73. 0% 74. 2%
HEMELX 192 102 102]ix = 80 | = 8, 160 53. 1% 55. T%
B EE6X 117 53 53] oK avigai| = 4, 240 45, 3% 41. 9%
HEBTX 146 81 gi] XU RERY R = 6, 480 55. 5% 62. 7%
ok EHHE 214 134 134] ‘X 80 |= 10, 720 62. 6% 61. 6%
e 548 395 305| % =80 | = 31,600 72. 1% 71. %
KA 882 571 571| X 80 |= 45,680 64. 7% 65. 7%
BUET 80 62 62| X 80 |= 4, 960 77. 5% 90. 7%
=il 63 45 45| X 80 |= 3, 600 71. 4% 75. 0%
HAR 69 44 44| X 80 |= 3, 520 63. 8% 60. 3%
—FiE 45 28 o8] X' 80 | = 2, 240 62. 2% 71. 7%
&t 15,704| 9,186 9,186] A 737,460|  58.5% 60. 8%
IARHEE
TN 3 A e & &
8 0% R | MAFE1AILDE S0H
80%~8 4% EHS 9 0 H
8 5%~8 9% Al _E 1.0 0H
90%~9 4% EH= 110H
95 %LLE Al 120H
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